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Question of the nnnax |an:
Why do we read 1151 nw1o and not other nin'1?

(7avn nwyn ,01Nn N2V NN |NN)

His answer:
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This answer is not enough n1Ix>7 because for 'my n1'o1 we have nnio.

What is more special about 7'7ny n11 over the other ninot That only this one got a
special "nima naxMp ?

NIND? The othernin'ot deal with general o1y that affect the conduct of a '~ at all time
in all places.
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And 'my naor Is specific. It doesn’t include seemingly any nxain for the nanan of a T'x

and for sure doesn’t have a general nx1In.
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The purpose of 'my N1 is P'my n'nn
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In our Times we cannot fulfill it because of two reasons:
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Comes out that remembering j7'my is not connected to nwyn in our days.

So why do we have a special nxp and a special naw Just for that?
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1. why are we obligated to remember 7'7ny even when it is impossible to fulfill n'nn
P'my?

2. why is there a special command to remember 77ny and p'my n'nn is not enough?
-From this we learn that the N1 itself has a goal and a purpose.

-The n”ann Counts it as 2 nixn.

n"nn- And obligation for Everybody

n1D7- an obligation on every individual
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The N1 itself causes oTxn 272 'y n'nn
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Difference between xn'IxT and 22071 and The advantage of each one over the other.
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Reading it from the nnin gives The strength to actualize #9ny n'nn.

Since this nixn is a n*1nn nixn, each individual has to do it always.
We have to be careful from nipma 7'mny.
Explanation to this:
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D7¥ v |'X... as long as there is p'my

?'my Is against the letters n-i

1.Why is it against the completion of the name and not against the whole name?
2.Why is it not against n-* which is greater than n-1?

3.When n -' stays whole , we have a full name of 'n.
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Before we receive the Torah, we need to nullify the 7'y that doesn’t allow our |'nin to

enter our nwynl NITN.
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